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1. The OMR Answer Sheet is inside this Test Booklet.
When you are directed, open the top seal of Test
Booklet, take out the Answer Sheet and fill in the
particulars carefully with black ball point pen only.

2. The test is of 210 minutes duration and consists of 175
objective type questions. Each question carry 2 marks
for correct answer.

3. Use Black Ball Paint Pen only for writing particulars
on this page and marking responses in the Answer
Sheet.

4. Make sure that the already marked OMR answer sheet
number and Test Booklet Serics marked by you on the
Answer Sheet is the same as that on this Booklet.

5. Rough work should be done only in the space provided
in the Test Booklet.

6. The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No
whitener/ eraser / Blade is allowed for changing
answers,

7. After opening the Test Booklet, please immediately
ensure that no page or question is misprinted, torn or
left blank. If any discrepancy is found in test booklet,
show it to Invigilator and get it replaced with test booklet
of same series.

8. For any question if there is any discrepancy in Hindi or
English language of that particular question the English
version of that question will be considered as final.
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SECTION-A| GENERALAPTITUDE TEST | 25 QUESTIONS

In a class, each of the students can either
play the guitar or the piano or both. If 15
students can play only the guitar and cannot
play the piano and 8 students can play both
the piano and the guitar, then how many
students are there in the class?

What additional information is required to

answer this?

(A) 20 students can play the piano.

(B) 23 students can play the guitar.

(C) 12 students can play the piano and
also sing,

(D) 20 students can play either the
piano or the guitar and also dance.

The average age of a father and his son is
23 years. If the sum of their ages 5 years
ago was 36 years, then what is the present
age of the son?

What additional information is required to

answer this?

(A) The average age of the father and son
before 5 years was 18 years.

(B) After 7 years the age of the father will
be thrice the age of the son then.

(C) Thesum of the ages of the father and
son after 5 years will be 56 years.

(D) Thecurrentage of'the son is still in single
digit.

GMN-B

Fi

Ql

Q2

U e W, Y&d B 41 o frer ar
framr ar < agays aom W@ 2
af% 15 v daa fer qu1 wa5d £ 3R
=t 78 9o wea ik 8 B faE
3N frer 1 aon goa € o T
o o v &7

fad 17 yw F1 SR 2 @ o B |

FfiRaa s amawgs &2

(A) 20 B3 I o waa #)

(B) 23 813 fMrer o waa £

(C) 12 BTa fUaT aon Wad & iR 77
0 w5 &

(D) 20 8= &1 &t R ar frer qon
"o 2 3R T N v ¥

U@ fOar 3R g3 ) afrae amg 239 7
afe 5 af uget &1 AN Y BT AT 36
ay o, df UF @ aciH g w87

f&d ¢ we 1 SR A B v B |

FfaRa s amavgs 87

(A) 594 ggat firem oiR g= Y sk
g 18 a¥ eft |

(B) 77 arg far # amy, g3 A Iy
& W= 7= 8l

(C) 5§ arg fAan oik g3 @t g =
e 56 a8 B

(D) 93 &I A I (A AT H & |

SERIES-B-A




Q3

Q4

Q5

Downloaded From : www.sforstudy.in

Deepak is the husband of Reema and has a
son Rakesh. Suman is the daughter of Vikas.
Vikas is the uncle of Rakesh. How is Vikas
related to Deepak?

What additional information is required to

answer this?

(A) Reema isthe only daughter of her
parents.

(B) Deepak is the uncle of Suman,

(C) The paternal grand-father of Rakesh is
not the maternal grand-father of
Suman.

(D) The paternal grand-father of Suman is
the matemnal grand-father of Rakesh.

ForT 100, | can buy either 10 apples and 6
oranges or |12 oranges and 20 bananas. What
is the total cost of 5 apples, 3 oranges and
10 bananas?

What additional information is required to

answer this?

(A) Eachapple is costlier than each banana
byZ5

(B) 5Apples, 9 Oranges and 10 Bananas
also cost ¥ 100.

(C) The costof 10 apples is the same as
the cost of 3 kg oranges.

(D) If1buy only oranges and no other fruit,
I can get 20 Oranges for T 100.

Study the pattern in the below series and
identify what can come in place of the
question mark ‘7°,

LAP,KEQ, JIR, 2, HUT, GAU, FEV
(A) 1IS
(B) 10T
(C) 108
(D) T
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LAP,KEQ,JIR,?, HUT, GAU, FEV
(A) 1IS
(B) 10T
(C) 10S
(D) 1T
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Study the pattern in the below series and
identify what can come in place of the
question mark *7".

GAME26, HCNG32, IDOH36, KEQI42,
LGRK48,?

(A) MISM54

(B) MHSL32

(C) MITL54

(D) MHTLS3

Study the pattern in the below series and
identify what can come in place of the
question mark *?".

2,8, 18,32,7, 72,98, 128, 162
(A) 48
(B) 50
(€) 52
(D) 56

If we interchange the digits 3 and 6 and
interchange the symbols ‘“+* and ‘=’ butdo
not interchange the symbols “—' and *x” then,
what is the value of the below expression?

93+48+6x%x13-63
(A) 14

(B) =571

(C) 268

(D) 316

Select the option that is related to the third
word in the same way as the second word
is related to the first word.

If Car : Driver :: Aeroplane : ?
(A) Captain

(B) AirHostess

(C) Pilot

(D) Conductor
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GAME26, HCNG32, IDOH36, KEQI42,
LGRK48,?

(A) MISM54

(B) MHSLS52

(C) MITL54

(D) MHTLS3
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2,8, 18,32,7, 72,98, 128, 162
(A) 48
(B) 50
(€) 52
D) 56
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93 +48+6x13-63

(A) 14

B) 571

(C) 268

(D) 316
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(D) FHSacy
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Given below are four statements followed by
four conclusions as options. Identify the
option which hasa conclusion which definitely
follows from the below four statements
disregarding the commonly known facts.

Statements:

1. All pens are diaries

2. Allbooks are pens

3. Nodiaryisapencil

4. Some pencils are swords

(A) Some pens are swords,

(B) Nodiary isasword.

(C) Some diaries are books.

(D) Some pens are books but not swords.

In a certain coded language if ‘JOKER’ is
coded as ‘KNLDS’ and ‘CLOWN?’ is coded
as ‘DMNXO’, then how is the word
*FUNNY" coded?

(A) GVOOZ

(B) GTOMZ

(C) GTOOZ

(D) GTMOZ

Pointing at a picture on the wall, a boy said,
“That man in the picture is the father-in-law
of the wife of the son-in-law of'the father of
my mother who is the only child of her

parents.”

How is the boy related to the man in the
picture?

(A) Son

(B) Grandson

(C) Nephew

(D) Great grandson
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(A) GVOOZ

(B) GTOMZ
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(A) 93

(B) urar /=i
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(D) TR
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In a certain coded language if ‘MOBILE’ is
coded as *13-U-2-O-12-I’ and ‘GADGET’
iscoded as ‘7-E-4-7-1-20°, then how is the
word ‘IPHONE’ coded in that language?
(A) 9-16-8-1-14-1

(B) O-16-8-15-14-1

(C) O-16-8-U-14-1

(D) J-16-8-P-14-F

Select the option that is related to the third
word in the same way as the second word
is related to the first word.

Dog : Doberman :: Fish : ?
(A) Poodle
(B) Salmon
(C) Jersey
(D) Ragdoll

Read the below statement and from the
below four options, choose the assumption
which is implicit in the given statement.

Statement:

Having lost both the opening batsmen early
on, the middle order batsmen were under
tremendous pressure to score runs in the
semi-final cricket match.

(A) Boththeopening batsmen did not come
out to play at all.

(B) Asperrules, inthe semi-final match the
opening batsmen have to give chance
to the middle order to score runs.

(C) The opening batsmen were not at all
under pressure to score and so got out
early on.

(D) The opponents were able to get out the
opening batsmen early on in the innings.
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Q16 Read the given statements and courses of

action carefully and select the option that isa
valid course of action for the statement.

Statement:

There is not much difference in the cost of
diesel as compared to petrol but diesel
vehicles create a lot of pollution and also lead
to high maintenance cost to the user.

Courses of Action:

) TheGovernment should announce a
policy to phase out old diesel vehicles
and also urge automobile companies to
restrict the production and sales of diesel
vehicles.

i) Car buyers should go for either petrol
vehicles or new technology vehicles
running on clean energy like CNG or
electric batteries

(A) Actionlonly.

(B) Action Il only.

(C) Bothactions!andIl.

(D) Neitheraction | nor action I1.
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Read the statement below and then the two
arguments after that. Select the argument
which is strong.

Statement:

Should the physical training subject and
classes be abolished in all the schools in
urban areas?

Arguments:

I) Yes, as such students play games on
their mobiles and tablets and time saved
can be used better to prepare for
competitive exams.

) No, it will reduce the physical activity
of the students in their formative years
which will create health issues in the
future and also, they will miss outon
developing critical life skills too.

(A) Onlyargumentl is strong.
(B) Only argument II is strong,
(C) Botharguments I and Il are strong.
(D) Neither argument | nor argument
11 is'strong.

Radha left her home in the moming and
walked towards the east for 4 km and then
took a 90% anti-clockwise turn and walked
for another 3 km to reach her school. On
the same day in the morning, her brother
Raman léft the same house and walked
towards the south for 6 km and then took a
right turn and walked for 8 km to reach his
college.

What is the shortest distance between
Radha’s schoeland Raman’s college?

(A) 6km

(B) 10km

(C) I5km

(D) 29km

GMN-B

Q17

Q18

Downloaded From : www.sforstudy.in

fau v e 3 <) 9 o aE W 1)
I TP B GAT B N HOga |

AT

w1 vl &3 & wit Rearadt § aiRs
ufdwor fAwg 3R Fed waa B 4
W TfRe?

a®:

) & gus Rgael s deed i
qole W T Woad € AR 399 o
WA g SaEr suanrr gfearh
wdErEl A JaN & forg dee S
¥ foar @7 Hepar & |

m «#, gg fagafRiai & wiRks
wfafaftat o1 gwa Fmtoree aet 3§
9 oo, s wfes § warem
waeard dgr 1 gadl € 9 #, 3
Hewayel Sitaq ®ree @ A |0
g S |

(A) dad T | 7o 8|

(B) ®ac a® Il 7oiga B |

(C) o 13 11 ST #aga &)

(D) 7 Al a@ 13k 7 8 a@ I #eeqa 2|

1 ey 9§ fog gas aud W
o Pl | 98 4 km G @1 3R T ) B
a8 90° arqad g 3iY 3 km IEHY I
fagaraa o | 99 &7 gae s w A
ST Wi v e ik 6km Sfaor A
v | R aw Al e AR 8 km
qADY AU il g |

@ fgaea ik vE @ dioa @
dra 3 s g8 aur &7

(A) 6km

(B) 10km

(C) 15km

(D) 29 km

SERIES-B-A

242820

5
%E._ ),
“i(®])




Downloaded From : www.sforstudy.in

Q19 Inthe given figure, the pentagon is rotated Q19 A 7E Py #, U= B 270° Tfdomad

270° clockwise and the triangle is rotated IR s # 270° amrEd gumEr T
270° anticlockwise and then the water image AR v ¢ sl &1 wrer wiafda forar
of the new figure is taken, what will be the | 3ifem sty S R
final figure? :

@ e Ry v et & & vl Ree @
Select the correct option from below. qqT P

>4

£OZE0

ok il
i G
- B . B
NG » @

Q20 Which of the options represents the correct Q20 fawet # fRar mr @9 W dFH-ama

Venn Diagram for the below statement? fr=ferRaa &1 Sfaa wu & gfar 22
All boys are students and some boys are o ded Rgand & ik go @
dancers. Tw &)

» OO0 » OO0
o QLD » GOD

- @ - @
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Q21 A cubewith each side as 5 cm is first painted
in green on all surfaces and then cut into
smaller cubes of each side | cm. How many
smaller cubes will have green colour on
exactly two surfaces?

(A) 25

(B) 36

(C) 44

(D) 54

Q22 Allofthe following except one are alike ina
certain way and so form a group. Which is
the one that does NOT belong to that group?

Apartment, Bungalow, Castle, Cottage,
Mansion, Kennel, Hut, Housing complex,
Flat, Duplex

(A) Castle

(B) Cottage

(C) Kennel

(D) Housing complex

Q23 Select the option that is related to the third
figure in the same way as the second figure
is related to the first figure.

go : 03 11 |0 g :?
(4 (B) i)

O
(A) 0 q
®) E a

D>

© O O
©) 5 O
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Q24 Select the option that can replace the

Q25

question mark (?) in the following series.

DW, HS, LO, PK, TG, ?
(A) WD

(B) YB

(C) VE

(D) XC

Raj goes for a morning walk every day. He
goes 15 m north from his house, tums right
and walks for 27 m, again turns right goes
45 m, then turns left and walks 5 m to reach
a park. In which direction is the park from
his home?

(A) North

(B) South-east

(C) South-west

(D) North-west

GMN-B
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DW, HS, LO, PK, TG, ?
(A) WD
(B) YB
(C) VE
(D) XC
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T8 399 BY ¥ 15 m I ) 3R W &,
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(A) SR

(B) =féyor—gd

(C) gRror—af¥aw

(D) SarR-uf¥ew
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SECTION-B| GENERAL KNOWLEDGE | 50 QUESTIONS

Which of the following is a beverage crop
grown on plantations?

(A) Jute

(B) Millets

(C) Tea

(D) Maize

Which of the following infrastructural
factors are NOT related to the growth of
agriculture?

(A) lrmrigation

(B) Availability of roads

(C) Insurance

(D) Mining

Which of the following terms is used for
growing vegetables, flowers and fruits for
commercial use?

(A) Horticulture

(B) Arboriculture

(C) Pisciculture

(D) Vermiculture

Eco farming is also known as
(A) dryfarming

(B) contract farming

(C) jhoom farming

(D) organic farming

Which of the following methods of irrigation
is known as trickle irrigation?

(A) Sprinklerirrigation

(B) Sub-irrigation

(C) Dripimrigation

(D) Bubbler irrigation

GMN-B
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e Riad @ w9 F S oar 87
(A) fosamE g
B) SuRiarg
(OREL LI
(D) @ fRiaE
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Q32

Q33

Q34
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Which of the following crops belongs to the
Kharif season?

(A) Cotton

(B) Wheat

(C) Gram

(D) Mustard

Which of the following is NOT a salient
feature of Indian agriculture?

(A) Dependent on monsoon

(B) Pressure of population on agriculture
(C) Subsistence agriculture

(D) Predominance of industrial crops

The Agriculture Export Policy, 2018 aims to

increase India’s agricultural exports to US$
by 2022,

(A) 40+billion

(B) 60+billion

(C) 50+billion

(D) 70+billion

is a type of farming in which the
farmers pool their resources and distribute
the agricultural products in proportion of their
resources.
(A) Shifting agriculture
(B) Commercial agriculture
(C) Plantation farming
(D) Cooperative farming
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Q31

Q32

Q33

Q34

Which author was felicitated with 54* & Q35

Jnanpith Award for his outstanding
contribution to enrichment of Indian
Literature in English in June 2019?

(A) Amitav Ghosh

(B) Girish Karnad

(C) AmitChoudhuri

(D) Ashwin Sanghi

M

Preafofeg 4 & @ e @9 vua
&

(A) DU

B) WE

(C) =1

(D) wwwt

Frefafes 3 @ s @ el s
) g5 fadraer wEY &7

(A) & AFgA R el @

(B) P W ST FT A\ &

(C) u% Fafe iy &

(D) 9 Mg wwal ) yurmr &

it fafa -if, 2018 & @ ad 2022
d® R & FY Fafa @1 uss

% 431 8 |

(A) 40 faferas & aftre

(B) 60 fafera & s

(C) 50 faferas & s

D) 70 faferm= 9§ aifds

Us BN @ @it 8 R
fr 39 Wl ) v 9w veha
X & AR JuA HewEl @ e A
P Iaurel o1 fAaRa s &)

(A) wre Y RifteT viieer)
(B) wrawid® Ffy (Fxffae vhider)
(C) FerRor Wl (rreer wifir)
(D) Wear @R (@RiTRfea wiff)

S 2019 ¥, Fr=fafea 4 ¥ 5 das

@1 IR e # iy Wit B wug
T W 7D P AFEE D Iy 549
e RBR | wEIfa far ar ar
(A) wifama |y
(B) e wafe
(©) aft <herdt
(D) af¥a= wre)
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Which of the following country’s cricket
team lost all matches in the Cricket World
Cup, 2019?

(A) Bangladesh

(B) West Indies

(C) Afghanistan

(D) SouthAfrica

Authorities from the Japanese city of Kobe
exchanged a Letter of Intent (Lol) with the
Indian city for a sister city
partnership on 27 June 2019 at Kobe,
Japan,

(A) Surat

(B) Rajkot

(C) Gandhinagar

(D) Ahmedabad

Which mobile app is launched by the East
Coast Railway in July 2019 to provide
information electronically and to promote
Digital India?

(A) ECOR Yatri

(B) ECOR Yatra

(C) ECOR Passenger App

(D) RAILCOR

" is a common method used to
measure poverty based on the income or
consumption levels.

(A) Poverty helpline
(B) Income line
(C) Poverty line
(D) Economicline

GMN-B
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27 A 2019 # WU TR P D
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(A) @

(B) WP

(C) TR

(D) JEFETER

Felrg 2019 % $ PR ¥@ A FAILIMD
w9 A E wer a3l e g

T 92T o4 & forg, fvw A U B
=g fFar?

(A) ECOR T/

(B) ECOR a1

(C) ECOR ¥¥¥uR U

(D) RAILCOR
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(B) 34 Y&

(C) T Y@

(D) anfdi &
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When is National Consumers’ Day
celebrated in India?

(A) 24 November

(B) 24 January

(C) 24 December

(D) 24 April

Which country has emerged as the third
largest foreign direct investor in India during
2017-18?

(A) Netherlands

(B) Singapore

(C) UsA

(D) Maldives

Which article of the Indian Constitution deals
with equality before law?

(A) 12

(B) 14

(©) 17

D) 21

The Article 51A containing Fundamental
Duties was inserted by the Constitution
through -

(A) 42" Amendment Act

(B) 41" Amendment Act

(C) 44®* Amendment Act

(D) 45" Amendment Act

Who is a member of the Gram Sabha under

the Panchayati Raj system?

(A) All members of the village

(B) Allmembers ofthe village over the age
of 16 years

(C) Alladult members registered as voters
in the panchayat area

(D) Allmembersofthe village excluding
women of the panchayat area

GMN-B
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Q40 WRa # WKy SynE fRaw’ w9 5

Q41

Q42

Q43

Q44

ST &7

(A) 24 5G9
(B) 24 S=aQ
(C) 24 fevay
(D) 24 3rira

2017-18 & SRM WG H S g9
81 ye fadeh Mase 29 PAafafeg
H 9 @ a2

(A) “ievels

(B) fmgR

(C) gya ¢

(D) wWeEg

W AU &1 B 61 AT F
& THE WHITAT WaT S &7

(A) 12

(B) 14

(C) 17

(D) 21

Ao wdfat & wWdfa s 514 &
wfaer § gary fie fasar
o1 |

(A) 42" wHeieE FfRfam

(B) 41" e rfeforam

(C) 447 e Iy

(D) 45" Wi s

YARKA WS awe @ T UH W @

R B &7

(A) 7ifa & Wi Hew

(B) ifa & Wit waw forrah ang 16 a4
A e 2

(C) e & % Herar & Wy # Yofiga
W D e

(D) varIE &= @1 wfReri &) vy
g & i wew
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Q46

Q47
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Q49

Name the polling station in Gujarat which

had a single voter on roll in the Lok Sabha

election, 20197

(A) Banejin Junagarh Lok Sabha
Constituency

(B) Asarwain Ahmedabad West Lok
Sabha Constituency

(C) Vastrapur in Gandhinagar Lok Sabha
Constituency

(D) Karanj in Surat Lok Sabha
Constituency

Indian Standard Time is ahead of the
Greenwich Mean Time by :

(A) 4 Hours and 30 Minutes

(B) 5Hours

(C) 4 Hours and 45 Minutes

(D) 5 Hours and 30 Minutes

Which of the following lakes is situated in
Manipur?

(A) Bhimtal

(B) Loktak

(C) Mirik

(D) Senchal

Which of the following tribes is NOT
residing in the Nilgiri Hills?

(A) Toda

(B) Kota

(C) Kurumba

(D) Mogh

Godawari river rises from the slopes of the
Western Ghats in the district of
Maharashtra.

(A) Satara

(B) Aurangabad

(C) Jalgaon

(D) Nasik

GMN-B
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(A) 442 3R 30 fame

B) 5H

(C) 462 3R 45 e
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Preforfaa 4 & @l e afgr #
g &7
(A) Arerer
(B) AEFeH
(©) fR®
D) Heret

fr=fefaa & @ S sonfa Hafl
veifeat F & wg oy 8?7

(A) erer

B) ®rer

- (©) TE

(D) e
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(A) |arT

(B) 3R
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Q51

Q52

Q53

Srinagar is located at the bank of
river.

(A) Indus

(B) Jhelum

(C) Ravi

(D) Beas

The Gulf of Mexico is connected with the
AtlanticOceanthrough .

(A) Florida Straits

(B) Otranto Strait

(C) Cook Strait

(D) Dover Strait

Hawaii’s main volcanoes are the example of

(A) shield volcanoes

(B) composite volcanoes
(C) caldera volcanoes
(D) flood basalt provinces

Which of the following systems was NOT
related to the land revenue system during the
British rule in India?

(A) Zamindari (permanent settlement)

1.(B) Mahalwari i

Q54

(C) Dastak
(D) Rayotwari: -

Which of the following was the second state
to accept the Subsidiary Alliance?

(A) Awadh

(B) Mysore

(C) Poona

(D) Tanjore

GMN-B
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Q53

Q54

N T8 & de W fem 2
(A) fig
(B) e
(©) @
(D) =9

s O @S @ @ A seaies
TR W g8 §F 27

(A) weRsT Srerwfey

(B) 3NgTeY Serfy

(C) TP Tord™

(D) BIR Fewy

gard saree Frefefaa § 9 fews
QB 87

(A) 1 ST

(B) W1 SareTE!

(C) e SaraArgdl
(D) 413 A id

f=fafea 4 @ @9 3 woneh wRa §
fafewr v @ SR A s goreh
9 wafa 7 .

(A) SRR (Wi d3eva)

(B), FETCTarS!

(€) D

(D) Yycare!

frafafea § @ S gow wia o
o wers Wy @) Wiar fFar ar
(A) I

(B) ¥R H

(€) T

(D) TR
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Q56

Q57

Q58

Q59

When did the sepoys in the cantonment of
Meerut break out the revolt of 18577

(A) 8 May 1857

(B) 11 May 1857

(C) 10May 1857

(D) 9 May 1857

Which American biographer of Mahatma
Gandhi wrote, “Non-cooperation became
the name of an epoch in the life of India and
of Gandhiji"™?

(A) Joseph Lelyveld

(B) Joseph Doke

(C) Louis Fischer

(D) Eric Foner

Where did India’s first Prime Minister Pandit
Jawaharlal Nehru deliver a speech entitled
“Tryst with Destiny’ on the midnight of
August 14, 19477

(A) Red Fort, Delhi

(B) Teen Murti Bhawan, New Delhi

(C) Parlidrtient (Constituent Assembly)
(D) India Gate, New Delhi

Who was the Vice President of the Executive
Council in the Interim Government of 19467
(A) SirClaude Auchinleck

(B) CH Bhabha

(C) CRajagopalachari

(D) Jawaharlal Nehru

Harish Chandra Research Institute is situated
at s !

(A) Lucknow

(B) Varanasi

(C) Pratapgarh

(D) Allahabad (Prayagraj)

GMN-B
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e vl #1857 @ Afe fgke &
Yo Fa g o

(A) 89 1857

(B) 119 1857

(C) 1095 1857

(D) 9% 1857

wET T & fw apiRe! oiie a
4 fommr o 6, “arwEdT, WRa 3R
TSN @ offe d ¢ g F1 AW 91
Tqr?

(A) 9% dddes

(B) 9w Siw

(€) gew frm

(D) tR® BfR

HRA D Usel WA UfSa Sramevere
qES A 14 I 1947 A weEfA B
rafe & amr (fove fag Sfe) dnie
wryor wal A f{ar ar

(A) &t fovem, feeeht

B) & fif wam, = Reh

(C) wwg (Wfaur w)

(D) sf¥ar e, 7€ ol

1946 @ afm wvaR § erier TRYg
@ Surae e 9?7

(A) ¥R Forss hferee

(B) ¥ = A

(C) ¥ TermTETary

(D) STATEYEATH A8

&y dg arpEuT weens wer fer 87
(A) o@TS

(B) RO

(C) wauTg

(D) TETEETE (FAFRIG)
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Q63

What was the sex ratio of Uttar Pradesh as
per the census report, 2001?

(A) 848

(B) 850

(C) 898

(D) 901
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Q60

The Ashram of Valmiki, the author of §Q6l

Ramayana, was situated in .
(A) Aryavarta

(B) Brahmavarta

(C) Shravan

(D) Padrauna

Indian Oil Corporation’s oil refinery is
situated at in Uttar Pradesh.

(A) Allahabad

(B) Kanpur

(C) Jhansi

(D) Mathura

Which of the following tribes is NOT
included in the list of notified scheduled tribes
of the Uttar Pradesh?

(A) Raji

(B) Tadvi

(C) Tharu

(D) Buksa

Which of the following Hindustani Classical
vocalists belonged to the Uttar Pradesh?
(A) Bhimsen Jhoshi

(B) Gangubai Hangal

(C) GhulamAli Khan

(D) Siddheshwari Devi

GMN-B
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Q62

Q63

Q64

2001 B F=ET ROE & ITER I@R
weyr # fefmgure a1 oar?

(A) 848

(B) 850

(C) 898

(D) 901

IV & Yafyar areife 1 oasm
Pr=fafes § & =87 Rea ar?

(A) smata

(B) #&H o

(C) #mavr

(D) g

gfeT aifae #faRe= @ 3o Read
IR W A @l ey &7

(A) TOTEIE

(B) IFR

(C) =¥l

(D) ==

fFrefofaa % @ o9 & srorfa ser
yeu @ T g weonfa @
o # mite 98 &2

(A) wroR

B) =@

©) g%

(D) gFT

FrefRiRe Regwarh s i i
fraer Wy Sar weu sy § o
(A) Has e

(B) 7R §TA

(C) M 3l @A
(D) fhgzad &
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Q67

Q68

Which multinational company signed a
memorandum of understanding (MoU) with
the Uttar Pradesh government in December
2018 for opening of stores in the state and
planning to invest ¥ 5000 crore?

(A) lkea

(B) Walmart

(C) Reliance

(D) Shoppers Stop Ltd

is a collection of instructions that
performs a specific task when executed by
acomputer.
(A) Data
(B) Software
(C) Program
(D) Processing

______isadevicethat provides functionally
for other programs or devices called ‘clients’.
(A) Intranet

(B) Dongle

(C) Thermostat

(D) Server

2461757

Q65

Q66

Q67

Which of the following is the fastest super Q68

computer of India, installed in 20187
(A) Aditya

(B) SahasraT

(C) TIFR -Cray XC30

(D) Pratyush

GMN-B
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(A) IEfpar (Tkea)

(B) die-wre

() Ramw

(D) 9ifnd wiu fafies
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(C) wHRee
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(A) anfes

(B) wEYd T (SahasraT)

(C) TIFR - Cray XC30

(D) W
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Q71

' (A) ever

As per the Pradhan Mantri Kisan Scheme,

revised on 31 May 2019 in the first cabinet

meeting of the new central government, it has
been decided to provide:

(A) T6,000 per year to small and marginal
farmers families with cultivable holding
land up to 2 hectare

(B) 6,000 per year to small and medium
farmers holding land up to 4 hectare

(C) 6,000 per year to small and marginal
farmers holding land up to 8 hectare

(D) 6,000 per year to all farmers

Who isthe chiefofthe Research and Analysis
Wing (RAW) as on June 20197

(A) Arvind Kumar

(B) Samant Goel

(C) Anil Kumar Dhasmana

(D) Rishi Kumar Shukla

The Central Government allocated T 460

crore, in the Union Budget of July 2019, for

pollution control schemes, including National

Clean Air Programme (NCAP), with a vision

for ‘pollution-free Indiawith "
Mother Earth and skies

(B) greenMother Earth

(C) clean Mother Earth and skies

(D) green Mother Earth and blue skies

GMN-B
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wur w3 R aorn & e, 31 W
2019 &Y |, 1€ Bw WHR B UEA
BT 453 i T' yem A F Piolg
foram war &

(A) 2 BRY o &N Ara 4 T
I AR A fFam oRani &
ufdr af 76,000

(B) 4 BICR 5 B IV NS 3N
e fFarEt @ ufey af 26,000

(C) 8 BRI Td AT YRS 31 AR
Hmia famt a1 ufy af 76,000

(D) ! famt @1 ufy ad 26,000

T 2019 & TR Red v vl
fam () & v @ &

(A) 3RfdT FAR

(B) \md e

(©) IFa TR g

(D) FM FAR g

B WHR A JAE 2019 PG JoT

#, wgur fFriEvr Aol @ g SeEa

A TIR W™ (NCAP) & aigefa,

YEEUI-HaT WRd' @ glesr |
& fw T 460 Fe amEfRT

m| Noal

(A) Tl 7R et oiR @

(B) W wgw apf o

(C) e wew aref ahe vard

(D) 1 e 3k iR &y g
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| Q73

Q74

Q75

Which of the following is the highest

profitable public sector unit in the year

2018-19?

(A) Indian Oil Corp (10C)

(B) National Thermal Power Corporation
(NTPC)

(C) Oil and Natural Gas Corp (ONGC)

(D) Steel Authority of India Limited (SAIL)

The 73" Constitutional Amendment was
related to the:

(A) municipality institutions

(B) setting up of state-level rent tribunals
(C) eighthschedule

(D) panchayati raj institutions

Which is the highest peak of the western
ghats?

(A) Ananudi

(B) DodaBetta

(C) Mahendragiri

(D) Chembra

The Atala Masjid built by became
a model for the construction of other
mosques’in Jaunpur.

(A) Mubarak Shah

(B) Ibrahim Sharqi

(C) Malik Sarvar X

(D) Hussain Shah

GMN-B
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(A) 7= sitaa @i (10C)

(B) e epfe gray SR (NTPC)

(C) 3ifae Us gea 9 SR
(ONGC)

(D) Wa iR it gfear fafes
(SAIL)

73" waenfe weer Frforia 7 9 e
wefere o

(A) "R urferaT Hwer

(B) TR T ARG @

TATYT
(C) amadl IR
(D) darat wror Heenrd

el ure @1 wared RaER $F ar 7
(A) IFTEHS

(B) Srsr Ag

(C) #e=frd

(D) ==

SiFgR A & qar PAffa seren

- i s ARl @& fmiv & fog @

e (diea) & TE |

(A) aNE WE
(B) zmifen wail
(C) wfer® wRax

(D) & e
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SECTION-C| GENERAL SCIENCE & ARITHMETIC | 75 QUESTIONS

In which of the following states rice is a
commercial crop?

(A) Kerala

(B) Uttar Pradesh

(C) Odisha

(D) Punjab

How many cropping seasons are found in
India?
(A) 2
®) 1
© 3
®) 4

What is India’s rank in worldwide in farm
output?

(A) First

(B) Second

(C) Third

(D) Fourth

The green revolution movement lasted from
(A) 1965 to 1970
(B) 1965 to 1980
(C) 196710 1978
(D) 1967 to1990

The first genetically modified plant
commercially released in India is :
(A) goldenrice

(B) flayrsavr

(C) Bt-brinjal

(D) Bt-cotton

GMN-B
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Q77

Q78

Q79

Q80

g fFrefafaa § 3 5w vog 6
Tt vaa 82

(A) I

(B) SwR 2w

(C) 3nfsem

(DREIC]

R A R B Ty aré o &2
(A) 2
®) 1
© 3
D) 4

el A Brer arelt Suwt & Al # gRanR
# WA B9 W @ w® 87

(A) "Ba

B) W

(C) d=

(D) =X

sRa wifd aEe+ #9 & &a a@ gar?
(A) 196591970
(B) 1965 ¥ 1980
(C) 196791978
(D) 1967 ¥ 1990

WA N @Ewfie w0 9 9 ysarn
IR By | wefa der &

(A) 18 F1d (golden rice)

(B) ToITaR w1aw (flavr savr)

(C) AE—F1 (Bt-brinjal)

(D) AT (Bt-cotton)
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Q81 Which of the following is NOT a part of the 5 Q81 Ffafed # 4 o W w=da qoy

Q82

male reproductive system in human beings?
(A) Fallopian tube

(B) Vasdeferens

(C) Testis

(D) Scrotum

Which of the following hormones regulates
carbohydrate, protein and fat metabolism in

~ the body so as to provide the best balance

Q83

Q84

for growth?

(A) Insulin

(B) Epinephrine
(C) Thyroxin
(D) Adrenaline

Which of the following processes helps the
plant in the absorption and upward
movement of water and minerals dissolved
in it from the roots to the leaves?

(A) Photosynthesis

(B) Transpiration

(C) Translocation

(D) Evaporation

Which of the following is NOT a

characteristic of Mammals?

(A) warm-blooded animals

(B) three chambered heart

(C) the skin has hair as well as sweat and
oil glands

(D) most mammals produce live young
ones

GMN-B
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o Womed @1 fawar T 87
(A) fE&maifg=it 71ell (Fallopian tube)
(B) aAr¥ 3H¥H (Vas deferens)

(C) U1 (Testis)

(D) 9o (Scrotum)

frafafea & ¥ a9 emw sdw 3
wEEEse, WeH N TE SuEy B
At e @ afF Rem & forv Wik
Y GADT AW DT Her War fHar
TH?

(A) YR

(B) ufEmr

(C) uraifa=

(D) TRl

gredt # Frferfaa 4 & 5w wftvar gam
g gy @il Al oiel a1 wigf 9 uftar
TH HW $ AR 1 3 A 7 fAad
87

(A) WaHTI HIATIT

(B) arscHGi

(C) ITHIET "
(D) arsfiaeor

f=felem 3 & @5 wr o waenRar

faden = 22 |

(A) A T e T oig B #

®) w7 ol geg g o @

(C) e ¥ ATl & Iy T
AR da 3 wRm@i f wig ek &

(D) e T Shfde Ry ey &
gl
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Which of the following animals has a short
small intestine?

(A) Rabbit

(B) Lion

(C) Goat

(D) Cow

Each kidney has a large number of filtration
units called

(A) neurons

(B) nephrons

(C) glomerulus

(D) ureter

Litmus solution is a purple dye, which is
extracted from .

(A) riccia

(B) funaria

(C) lichen

(D) hydrangea

Which of the following elements can displace
copper from its compounds?

(A) Silver

(B) Zinc

(C) Gold

(D) Mercury

Our body works within the pH range of
(A) 8.0t09.0
(B) 6.0t07.0
(C) 701078
(D) 6.0106.8
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Q85

Q86

Q87

Q88

Q89

‘B) 60070

frafafia # A fra amar &) @y 81d)
e B &7

(A) @

(B) ¥R

(C) THQ

(D) ™™

yd S A a8 e # e el
ud o & R A Ao A
oI 21 )
(A) =t

(B) i

(C) @Hserd

(D) X

frew Rega @ 0 1 & Wi B
8 R ¥ wrer far Srar 8
(A) RE¥AT (riccia)

(B) WgARaN (funaria)

(C) @Ea@ (lichen)

(D) ®rgSfomr (hydrangea)

Pr=ferfae % 1 2 A1 o TR B IHD
et ¥ Rverfia @y waa &2

(A) "R
(B) v
(C) W
(D) Rt

BART IR pH ¥ (f9) & Hfiaw

T B B |
(A) 8.0%9.0

(C) 70978
(D) 6.0W6.8
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Q90

Q91

Q92

Q93

Q94

Which of the following metals are most
malleable?

(A) copperand aluminium

(B) ironand aluminium

(C) zincand lead

(D) gold and silver

Which of the following periods in the modem
periodic table contains five non-metals?
(A) period 1

(B) period 2

(C) period 3

(D) period4

How many moles of ammonia are present
in51 gofammonia?

(A) 2

(B) 3

©) 4

D) 5

Which of thi:_ following are used to convert
ACtoDC?

(A) Resistors

(B) Condensors

(C) Transformers

(D) Rectifiers

't
|

If a net charge Q flows across any cross
section of a conductor in time t, then the
current | through the cross section is

(A) 1=t/Q
B) I=t+Q
©) 1=Q/t
(D) I=Q-t
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fr=iforfae # & S0 arg wew s
smardaed (Afergee) s &7

(A) @& 3R gt

(B) @ier 3R vgffam

(C) o R dran

(D) 4 afR =i

g amad vl § fFrefafea 4 @
faa st ¥ gt Av awgail o war s
&7

(A) arrad |

(B) 3 2

(C) 3mad 3

(D) 3 4

51 g 3piifran ¥ fet #rer amifaran s
Bl 87

(A) 2

B) 3

©) 4

D) 5

AC %1 DC (yeuracit gy i e amy) ¥
oRaffa #%3 & Ry Prfefea 4 &
MWWW'WW%?
(A) YRR ,4

(B) FSW

(C) FIBhR

(D),’iﬁem‘

afe wa (1) 9 ) o @ el A

IR FE H gg AW (T =) Q
e g 8, O IgIR Fe B AR
| yaifea ey (1) gl

(A) 1=t/Q

®B) 1=t+Q

(€ 1=Q/t

D) 1=Q-t
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How much work is done in moving a charge
of 5 C across two points having a potential
difference 12 V?

(A) 17J

(B) 24)

(C) 60J

(D) 16)

Which of the following devices converts
electrical energy to mechanical energy?

(A) Electric motor

(B) Electric generator

(C) Transformer

(D) Rectifiers

The velocity of a sound wave is 700 m /s
and its wave length is 35 cm. Calculate the
frequency of the sound wave.

(A) 1000 Hz

(B) 100Hz

(C) 200Hz

(D) 2000 Hz

An object is placed perpendicular to the
principal axis of a convex lens of focal length
20 em. The distance of the object from the
lens is 30 cm. Find the position of the image.
(A) 30cm

(B) —30cm

(C) 60cm

(D) —60cm

Which of the following is NOT a symptom
of anaemia?

(A) Irregular heartbeats

(B) Fatigue

(C) Bleeding gum

(D) Paleyellow skin
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Q95

Q96

Q97

Q98

Q99

12V @ faiar g A fAgai @ dm s C
B IMAY B WFARG F A BT T
arel s 1 A R B

(A) 171

(B) 241

(C) 60

D) 16J

frerfefiaa 3% & @ suawr Regd
Foil @ Fifys Hat § gRaftda e 27
(A) Foifas® Hiew

(B) Feifdg® Srivey

(C) FiEwER

(D) ferear (fRewmsd)

U eafy o &1 AT 700 m/s & 3R v
2uf 35cm 2| @f @ H amgfa A
T BN |

(A) 1000 Hz

(B) 100 Hz

(C) 200Hz

(D) 2000 Hz

U a%] P PG @arg 20cm B ST
o B Y T B daad @ T 8|
oW A avg A g 30em &) T AT
sfd &1 Refa s A

(A) 30cm

(B) -30cm

(C) 60cm

(D) -60cm

Fr=iferfae % & Pear vaonear (gfAan)
F1 e T8 87

(A) Bea A gsa+ Afafa g

(B) &

(C) #geEl A vaaEE

(D) @1 &1 G

SERIES-B-A



Q100 Which of the following diseases can be
managed primarily by bringing about
changes in lifestyles, physical exercises and
medication?

(A) AIDS

(B) Cancer
(C) Diabetes
(D) Tuberculosis

Q101 Inwhich of the following processes, water
goes from liquid to gaseous state?
(A) Condensation and Sublimation
(B) Evaporation and Transpiration
(C) Sublimation and Evaporation
(D) Translocation and Transpiration

Q102 Third generation vaccines are -
(A) attenuated pathogen
(B) pathogen relative
(C) monoclonal antigen
(D) syntheticantigen

Q103 Escherichia coli is used as an indicator
organism to determine pollution of water with

(A) industrial effluents
(B) heavy metals
(C) domestic waste
(D) faecal matter

Q104 Which of the following diseases cannot be
prevented by taking vaccines?
(A) Pertussis
(B) Polio
(C) Asthma
(D) Rabies

GMN-B
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Q100 Fr=ferRea # & S 4mrd 9@ w9 9

£520402

Q101

wira el % qgera aray, RS amam
AR Tar § vaft 3 o wHar 82

(A) T&H

(B) HER

(C) srufads

(D) egavaifea

frefefaa 4 & 5w witvar gamr o,
e raeen § A amaven #§ uRafda &
e 87

(A) ¥ 3R Sedures

(B) amfiawor 3R g

(C) SedurE 3R arsfravor

(D) wriaRer 3 arsgeast

Q102 Tl Gt & & B &

(A) gda fy gy Jmy
(B) IS AT

(C) AT wiaw
(D) T wfers=

Q103 vARfFar Hrams o1 o & Frferfiaa

9 frw yoR @ ugew &) Puifa s &
fore e HWaas Wa @ w9 # Sy
e wmvar 82

(A) s ek

(B) T &g

(€) W Faw

(D) A e veref

Q104 Frifarfaa # & @ & dwrd & S

FaART & g9 W " 87
(A) &Il WY (Pertussis)
(B) whferar

(C) &M

(D) s
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Q105 Whichofthe following is called the building
blocks of our body?
(A) Carbohydrates
(B) Proteins
(C) Fats
(D) Minerals

Q106 Which of the following Vitamins is soluble in
water?
(A) A
®) D
©) E
D) C

Q107 To get sufficient amount of carbohydrates,
one should take enough ;
(A) meat
(B) rice
(C) carrots
(D) fish

Q108 The amino acids containing more COOH
groups than NH, are called __ ™
(A) basicamino acids
(B) neutral amino acids
(C) acidic amino acids

(D) amphoteric amino acids

Q109 Deficiency of which of the following vitamins
causes bleeding of gums and wounds takes
longer time to heal?

(A) VitaminB|
(B) VitaminA
(C) VitaminC
(D) VitaminK

GMN-B
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Q105 frafoRad # & 58 s ¥R @ 74

s (RfesT <ife) & M J§ S sman
27

(A) PrETEESE

(B) WM

(C) T

(D) @fier ugmet

8
%0106 Prefarfaa § ¥ &5 @ R o #

gaTda 87
(A) A
B) D
©) E
D) C

Q107 vafer 7= ¥ FEEESe Wd F @

forg, afdm & i@ A &
QT ARy |

(A) #iH

(B) @mae

(C) TR

(D) woe!

Q108 Nmaﬁgamﬁméoonmm

Y are B L3 ana @
T &

(A) s (AR)

(B) SR (Yge)

(C) i (Tfife)

(D) swedl FrpRRS)

0109 Prerfifed 3 & R R & a0 &

HRY HygS! | vawwEa gn & R uE

W A e wwa war 87
(A) faerf = BI
®) fef A
(€) fef= C
D) fefm K
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Q110 Which of the following vitamins is mainly
found in animal products especially in meat
and dairy products?

(A) BI2
(B) B9
(C) B7
(D) B6

Q111 The fat soluble vitamins are
(A) A,B,DandE
(B) A,C,Dand E
(C) A,D,Eandk
(D) A,C,Dand K

Q112 Body Mass Index (BMI) is obtained by:
(A) height in metre/ weight inkg
(B) height in metre’/ weight inkg
(C) heightincm?/weightinkg
(D) weightinkg/square of height in metre

Q113 India’s air to air missile is
(A) Rohini - '
(B) Aryabhatta
(C) Prithvi
(D) Astra

Q114 India has how many research stations in
Antarctica?
(A) 1
(B) 2
©) 3
D) 6

GMN-B
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Q110 fr=fRaa % & @1 w1 RefF ge=a wu
W vy Iegra) A fady wy | iy afe 37
Tl # g w87
(A) BI2
(B) B9
(C) B7
(D) B6

Q111 T ¥ ga=idie faerfd= #:
(A) A,B,D3RE
(B) A,C,D3MRE
(C) A,D,Eafivk
(D) A,C,D3RK

1SLEL92

Q112 TR waF gYoaaia (318 v g
(@warg)) @ o Prwfefea & gam
a1 ot &

(A) @arg Arex # /a9 kg ¥
(B) ward Areed /au kg i
(C) Harg em® ¥ /a9 kg #
(D) a5 kg ¥ /Harg Hiex §

QI13 ¥RA & gaT | Bal § AR A AN
foramga & W &
(A) WfR
(B) amdwg
(©) g

(D) =

Q114 sferfead ¥ ARa & b I I
&
(A) 1
®) 2
©) 3
(D) 6
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Q115 Satellite INSAT-2E was launched from: Q115 ¥2ege INSAT-2E ugi & @i fdar

(A) .Moscow R IR 1
(B) Thumba (A) AR
(C) Kourou (B) oar
(D) Sriharikota (C) =Y
(D) SR

Q116 IfA+B=90°then find the value of

Q116 afd A+B=90° & @I

[tan Atan B+ tan Acot B sin’ A tan Atan B+tan Acot B sin’ 4
\ sin Asec B cos’ B sin Asec B “cos’ B
(A) SinA 1 F g |
(B) CosA (A) SinA
(C) TanA B) CosA
(D) CotA (C) TanA

(D) CotA

Q117 The length and breadth of a rectangle are

increased by 12% and 10% respectively.

5’

Q117 U 3aa B sarg i Aol Hae 12%

R 10% agrE W & | sUD &AB H

Find the percentage increase in its area. wftver gfeg @t o & |
(A) 21.2% (A) 21.2%

(B) 23.2% B) 23.2%

©€) 2% (©) 22%

(D) 20% (D) 20%

' Q118 A father’sage is three times the sum of the

ages of his two children. But 20 years hence,

Q118 U® fan ot 99 S <) 9= P 9H D

A & @ A 8| e 20 Wi 4w,

father’s age will be equal to the sum of firem & 9" SUD o dwEl 6 9F B AN
children’s ages. Then find the father’s current & qyey grit | Rar @ wfwe 9w s
age. Y |
(A) 30years (A) 30 9T
(B) 40years (B) 40 wra
(C) 35 years (C) 35w
(D) 45 years (D) 45 wTel
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Q119 The present age of a player is two-fifth of :

the age of his coach. After 6 years, he will §

be one-half of the age of his coach. How
old is the coach at present?

(A) 10 years

(B) 20 years

(C) 30 years

(D) 40years

Q120 Renu’s mother’s age was three times than
Renu 5 years ago. After 5 years, she will be
twice as old as Renu. Find the Renu’s
present age in years?

(A) 35
(B) 10
(C) 20
(D) 15

QI21 What is the time between 5 o’clock and 6
o’clock at which the hands of a clock are
together?

(A) 25 minutes past 5

|
(B) 25 l—l— minutes past 5

3
(C) 27-I—l minutes past 5

2
(D) 28ﬁ minutes past 5

Q122 A postman travelled a distance of 66 km to
» distribute the letters in 9 hours. He travelled
partly on foot at the rate of 4 km/hr and
: partly on bicycle at the rate of 9 kmvhr. Find
| the distance travelled by postman on foot.
(A) 10km
(B) 12km
(C) 14km
} (D) 16km
|

~N
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Q119 fF8 RaarS #t gt o9 owa a9 9

I BT 258 69 @ a5 Raard
OF AU P B IH D) A B B
@I qdaE 99 e 87

(A) 1091

(B) 20¥ra

(C) 30 et

(D) 40 wrel

Q120 5 HIeT Ugdl, ¥ B 7 A 37y ¥ A 3y

Q121

| W 1 il ot | S e g, T8 ¥
| 2 g @ 8 sl | 3 @ adue
g (ani #) s A

(A) 35

®) 10

(©) 20

D) 15

5au @ 699 @ 49, g v W ud
@ gl 0 A el 87
(A) 5ot 25 e

(B) 5 awiav 25% e

(C) 5o 27% e

(D) 5 ToHY 281—21 o

Q122 & wifdar ux dfen @ forw 9 52 3

66 km ®I g T HYaT B | IWA AiD
w9 W 4 knvh @ 1Y F g g A iR
e w9 W 9 km/h & w1l § wsfa
U YA B | SfHY gawT dgd gy ag
B TE A T Hfg |

(A) 10km

(B) 12km

(C) 14km

(D) 16km
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Q123 Valve A can fill the sump in 10 hours and Q123 ar™ A f&fl sreg™ &1 10 e # W

Valve B can fill the same sump in 8 hours.
Only Valve A is opened first. Afier how many
hours should valve B be opened so that the

HHal &, Wafd arca B 99 FEa @ 8
el ¥ W wadar 8| Ug dHad aled A
@ ST 8 | AEET B 6 w6l H g W

sump will be filled in 6 hours? <1 @ fow area B @Y fase g2t are @
4 ST AnfRg?
(A) 27 hours i
A (A) 2§aé
(B) 3; hours iaé
(©) 35 ho &ts
15 urs
4
(©) 32u‘é
: 4
2= h
i e (D) 2%12:‘%

Q124 A can finish a piece of work in 30 days, B

can finish that work in 50 days and C in 40
days. If A is assisted by B on one day and by
C on the next day, alternately. Then how many
days are required to finish the work?

1
(A) l8§days
2
(B) 193 days
C I6£d

172(!
D) 173 days

15
Q125 Thw wheel of an engine is —— metre in

4
circumferene and makes 4 revolutions in 2
seconds. Then find the speed of the wheel?

2500203

Q124 A &t & &1 30 &1 F 1 &% e

2, BEH 50 RAT # g1 v wean # aiR
C 3% 40 Rt % gu ¢ waan 21 AR A
@ & 29 B gamn ok arma fas C
TART WEIalT & WRil # 3R 9w U
ger & 8, a W QR B fan
e afie

(A) 18% o=t #

(B) l9§ fa=y %

3]
(C) 163-_; fe=it #

32
(D) 17; fa=f %

ouzsqass'mmmaﬁm‘{-mag

IR 4§ 2 AP A 4 IR gHar & | Uy
& ofx Far B

(A) 27 km/hr (A) 27 km/hr
(B) 31 km/hr (B) 31km/hr
(C) 35km/hr (C) 35km/hr
(D) 25km/hr (D) 25km/hr
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Q126 Find the number that must be subtracted from Q126 I8 H2T ST DY ford 2 : 3 D qUaR

the ratio 5 : 6 to make it equal to 2 : 3.

@ g 5: 6% srum # | germ 2

(A) 1 (A) 1
(B) 2 B) 2
©) 3 ©) 3
D) 4 D) 4

Q127 Theratio of the present ages of Suresh and
Mahesh is 7 : 5. If after 6 years their ages
will be in the ratio of 4 : 3. Then find the

Q127 F¥¥1 3R 78w A I A BT I

7:58) 3f% 694 & arq, S g 4:3
@ 3rgura A €, o wRw A acdae ang

present age of Mahesh. = DI |
(A) 32years (A) 3274
(B) 36 years (B) 36a¢
(C) 31 years (C) 31a%
(D) 30years (D) 304

Q128 Two numbers are less than a third number
by 30% and 37% respectively. How much

Q128 31 W] Fr W& § HHIE 30% i

37% &9 | Ugeh W | qudl wen

percent is the second number is less than e uftrera w87
the first? (A) 15%
(A) 15% ®) 10%
B) 10% (C) 20%
(©) 20% D) 30%
(D) 30%
Q129 Therate of interest on a certain sum of money Q129 vw fAf¥aa u=wifdr R = 9t 2% uga 2

is 4% per annum for the first 2 years, 6%
per annum for the next four years and 8%
per annum for the period beyond 6 years, If
the simple interest accrued by the sum for
the total period of 9 years is ¥ 1120, then

asi & forg 4% wfty g€ @, s 4 ot @
foy 6% ufy ad 3R 6 aut @ @ BN
afy & fow 8% uftrad & | af 9 aui &
3rafey % T 1120 &1 WRIRYT @419l Wi g5
2, o 7@ of¥r sma g

find the original sum. (A) 2400
(A) 2400 B) 2200
(B) 2200 (C) 2000
(C) 2000 D) 2600
(D) 2600
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Q130 What sum will amount to¥ 15916.59 in 3

Q131

years at a compound interest, the interest for
the first, second and third year being 3, 2
and 1%, respectively?

(A) 18000

(B) 15000

(C) 12000

(D) 17000

A sells an article to B at a profit of 10% and
B sells it to C at a profit of 20%. Find the
resultant profit.

(A) 35%

(B) 20%

(C) 32%

(D) 28%

Q132 A grocer sells rice at profit of 20% and uses

aweight which is 25% less. Find the overall
percentage of gain.

(A) 60%

(B) 65%

(C) 58%

(D) 62%

Q133 Three persons A, B and C run around a

circular path. They finish their round in
20 min, 15 minand 10 min respectively. After
how many minutes they would meet first?
(A) 100

(B) 120

(C) 108

(D) 110

GMN-B
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2443203
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Q130 af¥ ugal, g 3l e o & forg &

Q131

&) T AL 3%, 2% 3R 1% B, T vyl
& TR 3 e @ aafy # T 15916.59
@1 ufdr e & amei?

(A) 18000

(B) 15000

(C) 12000

(D) 17000

A, B® 10% @ T T U a%g 4491 8
N BSY 20% @ @M WX C H1 49 &l
2 uRurdl @ &t o Y |

(A) 35%

(B) 20%

(C) 32%

(D) 28%

Q132 & fwrr amadl 20% & 9% 9iad

aoar & W e 7 25% B N B ar
#| o am wfea s Hif |

(A) 60%

(B) 65%

(C) 58%

D) 62%

Q133 A, B3R C (& JeaR AFf R &8 W@

&1 q W 20 min, 15 min 3R 10 min#
U TAER R DY o & | S S
HA B a8 A Ugel AR A e 9
fret?

(A) 100

(B) 120

(C) 108

(D) 110
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Q134 Find the greatest number that will divide 148,
246 and 623 and leave remainders 4, 6 and
11 respectively.
(A) 9
(B) 10
(C) 11
D) 12

35+(5%9)+34+6
Q135 Find the value of 251
[-2 - 4+3 )+2

.’. -
4

+12

(A) 4

(B) 14
) 6
D) 16

Q136 Find the value of

J72+\/72+J72+~--...+oo
wi2-{i2-i2—-w

(A) 1
(B) 2
(C) 3
D) 4

Q137 Which of the following options shows
fractions in correct ascending order?
(A) 2/3,3/5,7/9,9/11,8/9
(B) 3/5,2/3,7/9,9/11, 8/9
(C) 8/9,9/11,7/9,3/5,2/3
(D) 2/3,3/5,7/9, 8/9,9/11

GMN-B
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<
w
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246 3R 623 31 Al & W wee
4,63 11 &1 9B AT |
(A) 9

B) 10
© n

D) 12

35+(5x9)+3+6

o

QI35 |7 3 17— |2 & wm s &
(-z»+3-]+0

(A) 4
B) 14
(C) 6
(D) 16

36
N oY Y e

wiz-Ji2-Yiz—emo

1 AT T BN |
A) 1
(B) 2
€ 3
(D) 4

Q137 Fr=fafea Rwcdl # & #w e

JYUITeHT BT VeI ARG HA Twfar 82
(A) 2/3,3/5,7/9,9/11,8/9
(B) 3/5,2/3,7/9,9/11,8/9
(C) 8/9,9/11,7/9,3/5,2/3
(D) 2/3,3/5,7/9,8/9,9/11
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Q138 105 goats, 140 donkeysand 175 cowshave Q138 105 F&far, 140 e 3w 175 77t @ v

to be taken across a river. There is only one

T4 B UR A WFT B | g9 B P A

boat which will have to make many trips in- Ha U A1 Q) T8 & o vm g w
order to do so. The lazy boat man has his & fou aga 9 wawR @E BR g
own conditions for transporting them. He SIHa™l B o T @ T Hews F g

insists that he will take the same number of
animals in every trip and they have to be of
the same kind. He will naturally like to the
largest possible number each time. Can you

B 1 ' T | S FE § P 9w e
qrE ¥ U & T8 D GHaY &) 9 9EE
|1 ¥ GIFERT B o W | 98 amiad
Y 9§ wY 93 # afeaw wer § aaR

tell how many animals went in each trip? g o WIFT 9HE O | TS aE ¥ e
(A) 25 SIaRl @Y o W1 A
(B) 30 (A) 25
(C) 35 (B) 30
(D) 40 (C) 35
(D) 40
Q139 Find the largest bamboo stick which will fit QI39 10mx 15m x 20 m &R ¥ fhe &1 w1
in & room of dimensions 10m x 15m % 20 arell 9 ) 19 P v P 4l 5
m &N |
(A) 26.92m (A) 26.92m
(B) 27.92m (B) 27.92m
(C) 28.82m (C) 28.82m
(D) 2432m (D) 2432 m
Ql40 Findthevnlueof 1 | 4 l
& Q140 (l+—)[l+ )(H , J(H )
(Hl)(H---lr )(H | J[“ 1 ) x x+1 .t+2. x+3
x x+1 x+2)\: x+3 &1 A ST B
(A) I+—|— (A) l+L
x+4 v+4
B) x+1 (B) x+1 -
©) x+4 ©) x+4
KRN Y | x+4
2 Mo @) =
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cme (G-l omem (D)%

then find the value of x. 8 W x &1 79 s D
(A) 69 (A) 69
(B) 35 B) 35
(©) 20 (C) 20
(D) 1 (D) 1
o R AN 2537 1 1,11 2531
Q142 "a‘(z a's 6)’b (5 9's 18J Q142 3R a= (2 a's 6) b= (3 9's ISJ
and ‘a’ is divisible by ‘b’ then find the result. 3R ‘a’, ‘b’ & ooy B, o uRumy &
1 MOTT BN |
(A) 5— »
10 = I
s (A) 5—
| 3 10
(B) 2§ |
: ®) 23
© 3=
6 3)
s (© 3
T 53
(D) 10

Q143 Thebaseof atriangular fieldis660mand Q143 U% PRoeR Wa &1 IMR 660 m & 3R

its height is 440 m. Find the charges for
supplying water to the field at the rate of

T 24 per sq: hectometre.

(A) ¥384.48

(B) ¥ 34848

(C) T438.48

(D) T 843.48

Q144 Ifthe area of a triangle is 6 Sq.cm. and two

sides of the triangle are 3 cm and 4 cm,
respectively, then find the third side (in cm).
(A) 5
B) 6
©) 3
D) 4

GMN-B

39

gD HAg 440 m B | T 24 wfy wf
geEiey & 3¢ W @a # gl 9 amgfe
A D A avTES Yoo D T Y|
(A) T384.48
(B) T348.48
(C) 243848
(D) T 843.48

Q144 3f% & Prgw #1 &=wel 6 Sq.em. &

3R Prgst & < qag e 3 om 3R 4
cm €, @ 8 | (em ) s Afdrg
(A) 5
®B) 6
©) 3
D) 4
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Q145 ValveA can fill asump in 16 hours and valve

B can fill the same sump in 10 hours. Only
valve A is opened first. Afler how many hours
should valve B be opened so that the time
taken to fill the sump is 8 hours?

(A) 1hour

(B) 2hours

(C) 3hours

(D) 4hours

Q146 Aand B can finish a task in 20 days. A alone

can finish one-fifth of the task in 12 days. In
how many days can B alone finish the task?
(A) 35
(B) 32
(C) 30
(D) 33

Q147 Ramu had invested a certain sum at simple

as well as compound interest. The time period
of both was 2 years and the rate of interest
for both was 10% per annum. At the end of
2 years, he found a difference of ¥ 1,500
between the interests received. Find the sum
invested.

(A) T48,387.09

(B) ¥ 1,50,000

(C) T38387.09

(D) T45,837.09

GMN-B
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Q145 arca A et e @ 16 €ef § W

WaaT &, Wafd garea B 991 AagH &1 10
Hel # WY udHal 8 | Usd dddl ared A
W1 ST & | A9ErE B 8 el # g R
39 B fore area B &) fart et e e
ST TfRe?

(A) 162 T8

(B) 2He 41"

(C) 3% 918

(D) 42 419

wQ146 A 3R B &1 feay 5l &m &1 20

ol # g1 % wEH 2 | A D B D
uigar e 12 &1 A g R waar 2
B ! 39 &M & Al YNI 6 1 e
fe=t @1 W e

(A) 35

(B) 32

(C) 30

(D) 33

Q147 I A HHRY & 3R awale & W

v Aftaa o o e e o) @41
o Wy a2 af off afw S @ fog
&ror B &% 10% ufe ad of | 2 a9 & are
1 faet ¥ wra @ #§ € 1,500 @
araw o1 | Hafe af¥r i T W)
(A) T48,387.09

(B) ¥ 1,50,000

(C) T38,387.09

(D) T 45,837.09
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Q148 The price of share A increases by 60 paise 3
every year, whereas the price of share B ¥
increases by 33 paise every year. If in 1991,
the price of share A was ¥ 6.20 and that of
B was T 8.30, then in which year will share
A cost 60 paise more than share B?

(A) 2001
(B) 2003
(C) 2005
(D) 2007

Q149 Find the value ofthe following expression.

(A) 31

! 51

(B) bY)
75
52

77
(D) %

©)

Q150 The sum of two numbers is 288 and their
r HCF is 18. If both the numbers are three-
t digit numbers, then what is the sum of their
reciprocals?
7
567
8
567
8
495

16

(D)gg

(A)

(B)

(©)

GMN-B 41
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Q148 X A & FIHa B¢ WA 60 U9 9 T
8, wafd 9ax B @t aima # &% Wi 33
19 o gy B ' | afd 1991 #, IR
A® PHd T620 0 3R R B A
HrAd T8.30 M, ot fbw ad H A& Hwa
B9 60 49 3 &Ff?
(A) 2001
(B) 2003
(C) 2005
(D) 2007

Q149 fr=fafiaa awe &1 99 s S|
I

1+

l

2+
3+

NlWn

49
(A) 2

51
(B) EY)
75
52
77
52

©)

D)

Q150 31 weEaril &1 AT 288 8 3R SHdI
Hew Aas 18 8| afy 1 "
dr—aidg S € o 99 gopal Bl
anT 2 Ben?

7

567

8

(B) 367

8
495
16
63

(A)

(©)

D)
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Q151

Q152

Q153

Q154

QIS5
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e Suaw @ dae 3 &
(A) ST gHE

B) WwER

(C) ToTeH

(D) *st wrEn

BPR' I WUE 3 WG o &7
(A) AfefreRor @
(B) &A@ agdd!

(C) T
D) I g fReay

e G BT ey o wd aef 2- &
(A) TET T B
(B) 9§ W= B
(C) wfoora B
(D) R B

252884

TEA DopHl’ BT AT FF B D forw
IIgF AT &

(A) = & T g/ T

(B) = T 4T @®

(C) oW WY W THS 7 WY

(D) ™ & M Tefedl & am

2} faudionie w=t @ 4 P19 91 e
feres wman &2

(A) Sexvr e

B) T foe

(C) Frmfeams e

(D) wEarEs fae

42

Q156

Q157

Q158

Q159

Q160

R 59 FrE o1 gt &7
(A) wwarE

(B) 3R

(C) way

(D) 3iferpor

fFr=feries % & @ @ e e 82
(A) wIET
(B) wed
(C) ™
D) Y

ugEH B gfe | 39 W ey gg 87
(A) favre 9 Qe B
(B) faRre Jaar a1 &1
(C) 1 Qwar & e
(D) @eran @ o9 fave |

TR T fAdm g 2
(A) gia
B) i

©) ¥
(D) W=

FHIR B AR IVTA G D U @
IR BIT-
(A) wfdra
(B) sfea
(C) RIBY
(D) SH
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Q161

Q162

Q163

Q164

Q165

Freafafaa & | a9 @ g @
qutgard! T8y &7

(A) 373

(B) URTAR

(C) 3mig

(D) wafey

Prefafaa ¥ & o 2 3fe @ 4=
TE B

(A) FgHfE

®) srgif®

(©) srgwha

(D) e

i’ &1 WY AWy anm-
(A) 3t + g
(B) 3nfl + F=
(C) afy + g
(D) afy + g

sifem ¥ frw werg & wanT gan 87
(A) &
®) #
©) &
®) fom

FHeaer # P A T 87
(A) agifR

(B) T<gey

(C) Taga

(D) e

GMN-B

2540647

43

Downloaded From : www.sforstudy.in

Q166 fr=ifaifaa % & ¥ W & aoaw 87
(A) BrT
(B) BT
(©) 87
O B

Q167 ‘T w=ERW #I gfe ¥ fFw woR A
eafy &7
(A) Tvga
(B) T

(C) =

D) T3

Q168 fr=ifefaa % | 9 wr € ww &7
(A) am
®) ©
€) ¢
D)

Q169 YWY 9A ¥ U5 w1 B Ay It 3R
a1 forar &7
A) fRais
B) ¥ar #
(C) Wil & Y5
(D) W& TZIRHA H W, TTH

Q170 IfrgE=T & wHaH ¥ B | FUF T

&7

(A) A T8 o ¥ g
B 21

B) T Y P oo B |

(C) ¥ Tl arerar Uy A AR A
ot 1 g At omh )

(D) 72 fawf N Her omar R
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Q171

Q172
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Q173 Fcn &3 & WHE &1 A9 B-

i oA I TEEY B vgeR qw T
v (0 w@r 171 - 175) @ San
g |

qofare st # e, g iR gow
@ 41 9GRS 74T 8] IH 9N B
PRY AES BT UGS o G Hae TE
& uar| gwafeon @R A e @
Toftardl w9ra § @ern, Wiy a1 dw@S
& fom vfagaes & e wad 9
2| QU S FAT T DATPN A
A ¥ O T8 S & | FAT B T
3N YRan <1 BT @ W B e |
TE H Al @R A ardl, Fer iR 3

FATDR DI &7 AHAT BT | F& Hhal g

& & oo wrfore vfeses &1 Rer
g2 | TOhardl w9 o s TaR 9§
Moaay awrR # s, s owsT
I g1 oforaeee afie a3 |

Tofardt e ¥ aEs ik uos @ 919
T 3 AT 87

(A) TWER

(B) waR

(C) TR

(D) BIER

WA T H Bl B GRET B A
foaar ur?

(A) FATHR B

(B) AR B

(C) wEE &

(D) WS @

A4

Q174

Q175

(A) &A1 BT TRRT qa-1

(B) Tl &1 Traw Hifda &
(C) TAT BT I=TA

(D) ®elr T ABG B

‘TG BT I -
(A) THBHIYH
(B) 37919+

(C) wrfdasar
(D) eaflgar

TN B waiS Iuga fiie 8-
(A) Far ¥ fofrarg

(B) Usftarg warar # &en

(C) Ty wifew

(D) & AR FeATHR
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